w Q}E Assembly Instructions
Wg Latch Kit Accessory for

Your Performance Partner M u s i c Li b ra l'y SySte m

Note: Please read and understand these instructions before installing.
Note: If you need additional information, contact Wenger Corporation using the information below.

©Wenger Corporation 2018 Printed in USA 2018-04 Part #173G195-01
Wenger Corporation, 555 Park Drive, P.O. Box 448, Owatonna, Minnesota 55060-0448
Questions? Call.....USA: (800) 4AWENGER (493-6437) « Worldwide: +1(507) 455-4100 « www.wengercorp.com



Assembly

Assemble the Guide Frames and Shelf Units as indicated in the original instructions
before attaching the Latch Kit.

Install the Latch Kit between two Music Library Shelf Units.

Pull one Shelf Unit open.

2. Attach the Latch Weldment to the holes near the top
of the Guide Frame between the Shelf Units using two <
1/4-20 x 1.77” Machine Screws,
1/4 x 0.734” Flat Washers and }7
1/4-20 Lock Nuts.

@ 11420
WLIadtCh . i \ Lock Nut
elamen
TR R 1/4 x 0.734”
o) Flat Washer
1/4-20 x 1.77” -

Machine Screw.__ /

AN
¥

[Oh

3. Slide a 3/8-16 Wing Nut onto the post and
secure with a 3/8-16 Acorn Nut.

3/8-16 ?

Wing Nut

3/8-16 \ §e
Acorn Nut \

4. Close the Shelf Unit and rotate the Wing Nut 90° to engage
(see illustration on previous page).




